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| 2] BREEK S5 NEEH B PATH#% (T) V8473 1
1 R 3745 <100mm B 50 R =
2 s RIWE 100mm<<L.<<500mm He 100 ) =
3 B RR/E 500mm<<L<1000mm e 150 iRl
4 R 5% <100mm EER 27 ol
5 i 545 100mm<<L.<500mm He 80 oAl
6 = 5% 500mm<<L.<<1000mm B 120 R =
7 FERER JITAR) =R 120 R =
8 AR “ (300X 200) mm B 300 K2
9 PR EE1 (300 400) mm h 320 iRl
10 PR EE1 (400X 400) mm h 400 For i =
11 TR Y% (450X 600) mm =R 500 R =
12 AR ‘Y% (500 800) mm =R 600 o =
13 AR EE1 (750X 1000) mm h 700 oAl
14 AR EE1 (1500 % 2000) mm h 800 iRl
15 PR EE1 (2000 % 3000) mm h 900 iRl
16 TR ‘Y% (3000 5000) mm =R 1000 R =
17 H R EAL 0. 01mm <25mm =] 270 o=
18 RERL 2 KPAX A 160 iRl
19 e (07100) nm A 100 oIl
20 ZER 1%, 1%k (0.0271) mm Fr 4 oAl
21 R (07300) mm 53 120 R =
22 R (07500) mm 53 180 R =
23 R (071000) mm b3 300 oAl
24 TR (0712) mm A 140 oIl
25 TR (0720) mm A 180 ol
26 TR (0730) mm A 200 il
27 TR (0750) mm A 240 il
28 TR (507100) mm A 320 K==
29 "k 0%, 1% (075) mm A 60 K =
30 "k 0% 121 (0710) mm A 90 RIS
31 Epie 0%, 1% (0720) mm A 160 il
32 [Epie 0%, 1% (0730) mm A 210 Lioall e
33 "k 0% 1% (0750) mm A 240 K==
34 MR (5725) um 27450 mm EER 65 (EE3GIn—AN Ik in4076) =
35 HMETIr R 0% 121 (07300) mm o 80 oAl
36 HMET R 04, 14 (3257500) mm i 90 K==
37 WETR <600mm 5a 13076, fEIn—Bn307c oAUl
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38 WAET R (600~1400) mm 5a 1307¢, &IN—B 307t el =
39 PEET IR <100mm it 75 oAUl
40 MEETHR >100mm it 120 (oAUl
41 P43 (5775) mm i 75 Rzl =
42 WEET 43 R (257150) mm 1 75 (oAUl
43 WET R (257150) mm 1 75 el 2
44 FLHT20 R (257150) mm 1 75 oAUl
45 WRT R <100mm 1 75 oAUl
46 ST T 1%, 2% <60mm B 60 (oAUl
47 ST T 1%, 2% 60mm<<D<100mm B 90 (oAUl
48 AT 19, 28 — %7 4k 300 Rzl =
49 SPAT - 19 2% ey 7 R 288 el 2
50 SPAT T 19 2% =R R 336 el =
51 FATT 1%, 2% WS 48 336 Rzl =
52 Mt 2 A 0. 5mm a 240 (oAUl
53 EEINVESS 2 I N 5m K 60, 5mbl E&EKAN3TT el =
54 WER 5m 5 60, 5mbl E&EKAN3TT el =
55 MER <Im X 30, AE+1min307c o =
56 FREAX 100mm &) 336 oAUl
57 =N pAL I & 250 (oAUl
58 S ON 500mm<<L.<1000mm 1 190 oAUl
59 KFR L<500mm it 130 (oAUl
60 A=K IN # 30 oAUl
61 5 i 95 Rzl =
62 LY &) 240 (oAUl
63 A B <50mm &) 540 oAUl
64 A TR =RTA T S (0750) mm & 360 (oAUl
65 iR G <10mm =) 300 AMELL BRI 120) oAUl
66 BRI 2 um (076) mm & 240 (oAUl
67 NN 0~150mn A 30 el =
68 VR B A R FEE T R A 0" 8 mm a 120 oAUl
69 VSR IN &) 370 (oAUl
70 Tk (071 )mm A 80 oAUl
71 PRt 4 Jm B A 20L &) 360 oAUl
72 Frifi e i 50 i =
73 Ll 1 70 (oAUl
74 BEABFIR <300mm it 480 oAUl
75 BB R 15 (oAUl
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76 T3 RSO AT <100mm 5a 40 el =
77 T3 R A 100mm<<L.<500mm X 60 el 2
78 JTJOEMAR 0. 14 L<300mm it 160 el 2
79 TEPRE AR 0%, 14 <300mm A 120 el =
80 TGN <30mm A 80 LRl
81 JeT A 30mm <D< 100mm A 105 el 2
82 pAITEZS Y 100mm<<D<< 150mm A 130 el =
83 PRFER (0715) mm e 150 K=
84 HaREM (0710) mm =) 95 Rzl =
85 TR0 EAX ] 340 el =
86 I JEASCR HE Fr F 30 el 2
87 MRk 525 um 2~450mm =R 60 (oAUl
88 (0710) mm it 140 el =

WEHSE

89 (0720) mm i 220 el 2
90 JREERE R b i 120 il =
91 HAR it 120 el =
92 AR K 6 i =
93 YNNI S > 40mm e 95 el 2
94 damEm RER) 07360° 1 120 el =
95 | ArdEZEM GBI (EHM) 25mm<D<100mm k3 95 i =
9 & PR B g HAIE A 110 Rz =
97 ToREM (071 )mm & 220 il =
93 K S Bt/ BN AT A 50 i =
99 RER/HR (071 dm it 30, H+1mpn30sc o =
100 B a 160 el =
101 Sl 5 I B R IAR A 336 i =
102 IRAESORER (0725 )mm A 120 K ==
103 BER Im = 30, H+1mpn307c o =
104 A AR R R & 300 (il7K-P-ALE n270) el 2
105 AVESN i 60 LRl
106 JH 2. 5 B2 B4 =) 336 el 2
107 RUER (% 540 A A A AI50, AR50 i =
108 PRER A 150 el =
109 B RKE B &) 120 el 2
110 ) I fRAL A 90 il =
111 B A = 540 oAUl
112 Hon B A & 180 el =
113 PR & 160 i =
114 AAUENFER =] 60 Rz =
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115 Sk 3 = 120 o =
116 AR (075) MPa = 120 el 2
117 R85 5135 (6760) MPa G 150 K ==
118 HA SR &) 180 el =
119 MR SR = 60 il =
120 LWL = 130 el 2
121 TR AL i 190 Rzl =
122 BoehL &) 420 el 2
123 FEEE &) 378 el 2
124 Libts gl # (ST Rzl =
125 IR a 40 (oAUl
126 T = 100 e =
127 I3 R BB R I, 10mg-200g & 900 (e ERED) TRl
128 AR K BB I, DT-100 & 900 (ML ERED) T =
129 HUR R K LB | Img"20g fa 800 (it BhkH) Kotz
130 HF AT I 1mg~20ke f 504 i 5
131 HF R 11 (1-500) g (1-20)kg a 420 Kl =
132 HF AT I 100 g “30kg f 300 i 5
133 PN R R il 100 g =) 186 (ML ERLND) T =
134 | RERTREELD il 200 g & 216 (FRLAHERD) Kz
135 | ERT R AR i 500 & & 246 (S ALERER) Ho
136 | RERTRAEED il 1000 g & 276 (F LA HERD) Kz
137 | REERTRRERE il 2000 g & 396 (# 12 AL ESHE) e ES
138 | RERTERER I 5000 ¢ (D | PHRIORRERE, RARAIT o
139 | DR AR i IkgBAF ( g 810 (A ALAETER) Hls
140 SR R LT e e 120 e
141 G B AT IR LT TAEA (8-650 ) Hkw =) 420 el
142 3T} Fy 17500mg R 60 Kl =
143 73T Fy 17500¢ H 90 Rl
144 73] My 17500mg A 36 Fori =
145 (G Mi 17500¢g il 48 iRl E=S
146 fikhi Mi 1720kg R 72 LioalUEA
147 PR Mz < lkg R 30 Kl =
148 7R Mz >1kg R 36 Lol
149 EE s 11 10t fa 2250 Kl =
150 EE s 11 20t a 2570 Kl =
151 e s 11 30t a 2890 Lol
152 EE s 11 40t fa 3210 Kl =
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153 AEE BT ds il 50t &) 3530 Lol
154 AE B ST ds il 60t &) 3850 fori =
155 AR B g% il 80t &) 4490 Lol
156 AEE BT ds I 100t &) 5130 Lol
157 AE B ST il 120t 5] 5770 fori =
158 AR B g% il 150t &) 6730 Lol
159 AEE BT ds I . 1111 <20kg & 15, 6 Fori =
160 AE B ST ds I . 1111 20760kg (60kg) & 40, 15 Rz
161 | S P g il 60~1000kg (£ 1000kg) =) 336 T =
162 A E Bh i il 100073000kg (7 3000kg) a 840 i =
163 Ak A shig s 11 =3000kg & 1680 K=
164 AEELE R T H B ds 0.2, 0.5 <1000t/h = 2100 fori =
165 AEELE R T H B ds 0.2, 0.5 >1000t/h = 2520 T =
166 @jﬁgl?%ﬁ% (=¥ 0.5, 1. 2 <1000t/h fa 1680 o =
167 ﬁqg%ﬁgﬁ% e 0.5. 1. 2 100076000t/h a 2520 Lol
168 ﬁéi’?%ggg% o 0.5. 1. 2 >6000t/h fa 3360 Fori =
169 BRI 050 50kgld T & 1680 Koz
170 BRI T 50kgLd I & 2520 e
171 TARIRS T TAEH (07100) %VOL =3 24 T =
172 PR E A AL B R 90 Fori =
173 BRHOK A TR WURE W0 | | so (REmBEARSEET ) | KNS
174 TOEH BB 0 E A TAHEH fa 320 Fori =
175 2 o a1 (10710000) u 1 % 150 800 K%
176 AR ARG + 5%FS (0-100) %LEL &) 540 T =
T R 0792100 & 07600 ) g 564, 1050 o
178 =T TAEH (0. 650071.5000) g/cm’ =3 24 iallE=+
179 LY A 100 Lol
180 HL3h 2 i HEAT A B A% (07120000) cd a 1400 Fori =
| Rk | 0% O T IC B0 L ol @ 2500 o
182 | ERARKENES (K’Z‘;: N 840 Rl
183 AR B IR F I B A 5.0 FKER: 6% 28% A 300 Fori =
184 | IE4a RIS (CNG) I =al X 800 Lol
185 AR FE T SR TAEH L 45 iRl
186 T 35T YR gk 3R (079999) s = 150 e =2
187 TR AT 1111 <lkg A 80 Rl
188 | Eﬁgiyf REPPRHA 05,12 3000 kN & 1570 il 32
189 | B0 Eﬁgiﬁ REFPREL 05,12 2000 kN & 1320 Homls
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190 ﬁﬁ‘Eggﬁﬁﬁﬂﬁ 05,12 1000 kN & 1152 il 32
o1 | B HARIHEHRR 05,12 (10~600) kN & 864 e
o2 | Egjig%{iﬁg*j*4tx 05,12 (2.5~500) kN & 780 il 32
193 rUN 3R B 0.5 (10~2500) N ] 384 (oAUl
194 rUN 3R B 1,2 (10~2500) N &) 336 oAUl
195 RIS 1 (5~6 ) kN =] 800 el 2
196 W71 =100t L 5 RIS
197 WET TR 55.5t<x <100t 4 500 For il =
198 WET FrTi <55.5t L 9 RIS
199 MR T S 3HIBLLT 600Nm LA F [y i 240 RIS
200 R T S 3GMULT 600Nm LA~ XU [ i 336 K=
201 R T 3GMULT 600NmbL [ (%) B i 336 K 2=
202 R T 3GMULT 600NmbL [ (%) XU i 462 K==
203 . BER LS =] 60 i
201 . R 0.5%% f—i‘f 907E. FHII—AMEMIKASTE | HedE
205 e ed 0.5 LA R = 260 o =
206 g GRS 4T = 80 Fori =
207 ELVL R B 0.052% % LI = 464 o =
208 LIRS FA 0.05%¢ % LA'F (10'~10°) Q =] 456 ol
209 BT HE AR 0. 10 LLF f 480 RIS
210 FLUR H BH A 0.052% % LI = 464 o =
211 ELI HLBHAE 0.01Z % LL'F 3 30 fori =
212 E%ﬁ@%gﬁ(*ﬁm 0.005~0.022 (10*~107) Q H 150 PRt
213 Eﬁﬁﬁ%gﬁ(*ﬁm 0.05~0.2% (10%~10°) Q H 120 PRt
24 | ORI osgrpi | 071000 Ve 010 450 e
215 B ALz T 02 L LAF = 220 oAUl
26 | mfe Gret. mm | 1 4 480 Ho
217 TRt 0.0014¢~0.02%% pH: 0~14 & 240 Fari 2
218 BT 0.001 & 378 il 32
219 Bt 0.001pX a 630 (oAUl
220 T WA e B 1.2, 3% (330~800) nm & 714 Foi ==
221 [FRAEEE AN OHL BREERE = 800 LRl
22 REGRERI i T
223 7S 2 W B R X = 880 LRl
224 KIS = 600 RIS
- e A B.C.D 5 |756 (PRPRSk, AR — ARk e

3007%)
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226 I 4 7 X 10% (50~ 100) keV & 1260 K=
sy | HBEXIRANR 4 1260 Ho
998 s L P 159 (0.05“6;)())0)H;V (0.5~ & 504 Kol
229 oL HX a 504 Fori =
230 | ZSHUES /BN AL OHL R IR f 800 iRl
21 i 5L ssog | (160 e 71000y 672 foms
232 2 b H ELI A 1-3% (0.0171000) Q a 300 K =
233 BB b v BEL I A 4N (0.01719000) Q & 300 K 2=
234 2 b 53 v BRI A a 600 o =
235 LSNPS 1~54% a 320 Fori =
236 REF IR a 150 fori =
237 FREMHTL )T 1~5% = 440 i =
238 HER BT B a 620 oAUl
239 REMITER (D 1.5~5.04% = 80 i =
240 Hk LR fa 120 Fori =
241 hEeR B 0.5 LA R = 620 fori =
242 i s 468 25 A 5% 10kV a 640 fori =
243 i s A 3% LT 10kV = 480 Rzl =
o | A SRR Oy PO IO NG g S04 o
245 Hrr A= HERKBAL 0.05%% (0~1000) V; (0~10) A| & 750 K 2=
246 EE 001~ 022~ 005 —45°"445° a 540 Kol
ot | mpmopp | QUL S| (00 SON KM L b | s, s emBm00E |t
248 JEF B =) 630 Rzl =
249 ﬁﬁﬁ%%iﬂ%%%’f{ A. BZ% (1907850) mm & 600 o=
950 Xx%%%‘é%ifrﬂﬁ%%t% A. BY (190~900) mm & 924 RIS
951 A A 5% & 1260 , BEEGM—AMKEER 130070 il
959 M € A 5% 1x10~ 2g/mL~100 % 4 1428 , AREIN— AR 2% 030078 (oAUl
253 RN I 1000 LioRUllE
254 A TE VR R f 500 o =
255 LI VA 5 fa 700 o =
256 FNIHAE VE S A a 1500 oAUl
257 IR AL a 1000 o =
258 MBEEHTHL =) 1200 LioRUllE
259 AL ] fa 1200 LioRUllE
260 KRG A 0.01% 2% = 1032 LRl
261 R G B 0.0005%"0.02% & 1008 R
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06 e B c 0.01%“202/“\&0.01“100 4 2100 Kol
263 JEFTK B 3% =] 480 i =
264 i< AL 22 (300~ 1100) C b 280 Fari 2
265 B LA 24 (300~ 1100) C ba 280 K=
266 I IR 2% v e A = 320 Rzl =
267 HL S RAL 02%"5% (5%10271x10*) uS/cm & 312 Kol =2
068 ﬂd)ﬂ%@&%&%ﬁ%%ﬁ% T & 560 Kol
960 7J<?E$J%]f§&7§%ﬁfﬂﬂﬂﬂi TR © - 70) Sm/m & 320 Ko
270 | U SUH K P 5 2 A L TEH = 352 Rzl =
271 KRR IR S & TAEA = 320 i =
272 17 R AR TAEH = 368 i =
273 TKYR RS e PR TAEH = 320 i) =
274 KR HEA FEAX TAEH = 352 Rzl =
275 WS PEAL = 460 i =
276 IR BEAX = 320 Rzl =
277 G f 320 i =
278 PHERERS =] 320 i =
279 LU AR A% =] 320 Rzl =
280 TREE LB a 320 LRl
281 I A 120 i =
282 b 352 gt i) 52 A =] 320 i =
283 W HIBFEAL = 320 i =
284 e TENBH A a 320 LRl
285 R & = 672 i) =
286 LA AR L = 320 i =
287 KRB A f 560 i =
ogg | FHEPH ;ﬁ%}{ %g&iﬁﬁ% & 460 Kol
289 FEY A a 560 el 2
290 | FEYER el A BhIE b = 1120 Rzl =
T £1C | S60. I ANREE A0 | R
292 BrFRA <Im’ = 560 , AEHEII—ANEEE SNU80E | AT
293 s LIER 800 i =
294 BEFRAL = 600 i =
295 ZLAMIIMAX & 1100 LioRUllE
296 MRAX = 700 i =
297 B\ = 800 Rzl =
298 | ZKYR RSV BN L E A TAEA = 320 i =
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299 BRI 05+ 1. 1.5% &) 480 oAUl
300 LA R 0.05~0. 12 (0~1000) V = 480 R
301 AR R ER 0.2~ 128 (0~1000) V & 240 S
302 Hi#rhinR 0. 120 UL R & 240 o =
303 BT IR Shrfgeh ol & 670 K =
304 SE A IR A K BUF = 340 K==
305 HRBTFHBER 0. 1R LLF (0~1000) Vv, (0~50) A & 190 K=
N . . Ho | 6070,58 BV F A i A = PR .
306 EN N Gt 1.0 K LA (0~51) A iR 50%,1’%1][]*4\%[5&11[]4&407—5. Fr =
VR v A (21070, K ERPI A E ISR A R |
307 BB RE FEE 0 0. 12k (0~50) A B 50% 4511 — R A1 90 7T e =
- e AR BTN o FEAE
08 | HAHE GED 0241 (0-50) A |t i | 0
N . A | 9076, 38 B AR B e AR BB N
309 BB RE G0 0.52% (0~50) A R 50% 451N R A48 7T, e =
310 | ARmHIAE (FEED) LS AT (0~20) A &) 40 oAUl
311 | REHRER @RER) 0. 1% (0~20) A %‘é 21078, 80— E BRI 90 t. il =5
312 LR ARE e 0.2% (0~20) A %‘é 150 7C, & n—A & ik 72 7¢. K==
313 LR AME FRE) 0.5% (0~20) A %‘é 12076, & —A 2 R i 48 e, K==
314 | IR (RER) 1.0% (0~20) A %‘g 60 Kouls
. o | 6070,58 BV F AR i A = PR N
315 B ER (FrE 0 LOZ S AT (0~ 1000) V s 500,411 A AT 40 7¢. oAUl
: e i
316 | HURHUER GEESD) 0.1%% (0~ 1000) V i 2107550;%@?\“ IO ERER | o
‘ 150 3
317 | HBHIER GREFR) 0.24% (0~ 1000) V i g%;%gﬁi;%”&nﬁ%m Kol
. . Ho | 9078, 38 ELI M FA K s i I A PR N
318 HRHER FHER) 0.5% (0~1000) V B 50% 11— A48 S
319 | RAmBER G5ER) 0.1 (0~ 1000) V %‘é 20078 A AMRIIO0E. | ks
320 | RHHIEE (E) 0.2% (0~ 1000) V S| o mm o ERTE | s
321 TRHEEE (GEE) 0.5%% (0~ 1000) V éﬁg 120764 I —A~ & R n 48 c. K=
N A 24070, B PG TE Dnfic s A B .
322 HRER 0. 1% (0~1000) V. (0~10) A} 50% 11— B EAZ90 . e
N oAk | 18070, R EMM AR e MR A R |
323 HRER 0.22% (0~1000) V. (0~10) A} o 50%% AHI— ™ BB 7255, e
. — 2BV Aoz j; =
324 HRThEE 0.5% (0~10000 V.  (0~10) A %‘g 150?%%%%’@?%@?@;2%5& Kol
N Ho | 6070,58 LU F AR i JE A = PR N
325 HIRIIRRE 1.OZK (0~1000) V. (0~10) A B 50% A BB ANI307E, K s
326 LimEEL (G0 0.1%% (0~1000) V. (0~20) A éﬁg 240 75, B — A& B Ao 7c. K s
37 | RAEE GEEHR) 0.2%% (0~1000) V.  (0~20) A %‘é 180 C A M RIRIKT25E. | Kl
38 | RAmIEE GEER) 0.5% (0~1000) V.  (0~20) A %‘é 12078 40— M RIRIKAS S, | Kadss
329 LI FEL (FEE) 1.04% (0~1000) V.  (0~20) A g@@ 60 K=
o 2 o/ () 150 (15~600) V . .
330 S 0.02%~0.05% ©.25- 10) A & 840 for i =
331 TAEM Tt b 2’5 34 300NLLF & 300 Koz
332 TAER it b2 300NELE & 420 Hodil s




;) B RE LK S5 NEEE Hpr #ATH#E GE) L d 473
333 | TR G b2 300NBLF & 520 Koz
34| TR (B 23 300NBL & 750 S
3 | wTmsman | 00 K02 é 860 R
336 LTI A g R 0.01 "~ 0.2 % = 480 o =
337 HL TR R R 05" 1.0 %% =] 300 LRl
s | wrisctsmr | 00202 & 860 Kol
339 L SR R 0.01 "~ 0.2 % &) 480 oAUl
340 | TR 0.5~ 144 & 300 Hol s
341 BUb R 0.5% f 100 Koz
342 b 124 = 80 Kol
yy | PEEHKEN GRE L1 & 480 S
344 i 2RI AL TAEH a 320 oAUl
345 T8 40 EE 57U FR T AX TAEH a 320 fori =
346 | EIRMAEAL (FEELO =) 320 (oAUl
347 | FREEMERAC (FELO © - 70) Sm/m a 320 oAUl
348 IKIBHA &G 480 , BEBGIN—A SUINYL80TT o =
349 B e AR =) 480 oAUl
350 W o HTAX 10% 0~100% & 370 Ko 2
351 ALV HH A3 BT AR 5% 0. 1pg/L a 504 (oAUl
352 T H SR A a 560 oAUl
353 KA FEAX =) 360 oAUl
354 W FIH) 300NLAF & 416 R =
355 MG 300NLL - & 600 e
356 By LR 5 AX 0.05 (0~ 1000) mV =] 720 (oAUl
357 ezt SRR b2 340 oAUl
358 GIRTIES 1% X 120 LRl
359 P& A 120 oAUl
360 PUER B TAEH a 320 fori =
361 M X AT 400NTU 4 420 Kol
362 IRRE T ( -20~40) C = 180 R =
363 iR ( -50~1000) C & 480 K==
364 TR A R A 24X a 480 oAUl
365 7k$&i%[§f§%§§£§f%?ﬁ% 0.5. 1L.OCHE ( -30~300) C Jy 20 (0°CLAFAF 40 o) K=
Tl i RN ( 30-600) € s 15 TBIF A 0 D) R
367 % PRI AR B T 0.1 02 CHE m ( -607600) C Jy 60 s
w8 | depmmit Gk | ooacsuc | O30 € G000y 320 L
w9 | depmpit Gekke | ooacme | O30 € G000 gy 480 e
370 | HFREET Gk E) 0.1CE{1C FiR"300°C JBIE 480 (oAUl
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371 | R CEAERE) 0.1°CAI1C £ ~300°C WG 640 K=
372 FLBE R BRI +(172)°C ( -507300) C M 10 LRl
373 PRI (30.0~43.0) C 5 120 K 25
374 B H TR T (35.0~41.0) C 53 120 Ko 2
375 TG T (1007300) C =] 840 LRl
376 LM TH 0.01°CE0. 1°C (22~42) C & 300 K
377 ZLAMRRLAX 0.1C (20~42) C & 1500 K==
378 JE ) EE T 1~5%% ( -80~800) C It 60 K 2=
379 B4 JE i T 1.0~2.5%% ( -80~600) C = 60 oAl
380 KAERIEAL +5% (0~25) kV f 320 il =
381 R Il e 1% TAEH = 320 Rz =
382 SRR X 0%;0%32%:5020;5 s ~3%0.03 o | s 315 Fill =
383 TEEAIHTAL f 336 i =
384 i 25 FiL PR R AG 2 X (0.5~5) % 2GQLLF =) 336 Fri ==
385 QENTRERTTARE AR<Im’ =) 640 (oAUl
386 VLR TARN 2 AR >1m’ f 880 i =
387 W IEAAX & 480 fori =
388 WA AL =) 480 (oAUl
389 D IRAE RN =) 480 oAUl
390 Wi N PR E A f 480 i =
391 Wi R e FE e A f 320 Rzl =
392 5 2B R BN e A =) 320 o =
393 BRI KA a 320 LRl
204 /M%‘/%%Eii;gﬁﬁmﬁ & 120 .
395 | W (HEks) MBHLA f 560 i =
396 H ) 2 T 7 SR =) 480 (oAUl
397 AR U 5E X = 320 Rzl =
398 FERD T a 320 LRl
399 #5 A = 480 ozl =
400 kR T = 500 i =
401 bR AX a 320 (oAUl
402 i AL 22 R FRRE. S a 552 oAUl
403 ot HL R a 400 (oAUl
404 Feifit FL IR a 400 el 2
405 AR AR U a 580 Fori =
406 AR AT LY =) 400 (oAUl
407 AR AT LI a 580 el 2
408 Wi 0.0170. 12 100Q~1MQ a 120 L
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109 PR 0001 G0 (0" 10)MQ & 480 Rl
410 Her B R 0. 1KLL N (0710)MQ & 320 ol
411 SRR (0710)MQ & 320 Lot/
700 RIS
=T 50070)
413 i B i A AL a 320 oAUl
414 e A BE R & 320 Rzl =
415 /R SR S2i]N =) 320 o =
416 RAHLEE IR & f 320 RIS
17 EhHLE AR G f 320 RIS
418 FHAEATIAX =) 336 oAUl
419 AR 2 T Bebr kU =) 4860 oAUl
420 ZIREMIR & & 410 ol
421 A 22 SE 7S AR T 5 X f 256 RIS
422 R S 7 22 MR f 256 RIS
423 A JH B R F I E AL =) 256 oAUl
424 AN EAX =) 256 oAUl
425 EREZIE =) 256 Fori =
426 IO S AR B At 22 s A =) 256 (oAUl
427 W BELAY a 360 oAUl
428 BEARIE S EA a 300 oAUl
429 H BE A =) 256 oAUl
430 WHEBL =) 256 Fori =
431 Ji A A% =) 320 (oAUl
432 AR = 120 RIS
433 S R f 320 RIS
434 et B8 P £, 72 REAY 0.02 100 & 120 K=
435 it i €02 B SR BRI f 560 LRl
436 B, THE A AL = 480 RIS
437 YA A = 320 RIS
438 FRTHRB 524X a 320 el =
439 VR PE <5 m 560 i =
440 B 5<s <15 n’ 1100 ol =
441 R 15<<s <20 n’ 1800 el =
442 )% 20<s <25 n’ 2500 i
443 i §>25 n’ 3000 K=
444 Wi TR A RLRC B R AL =) 560 oAUl
445 AR <10 n’ 1120 ol =




Fes BB ELR %% NEHER Hpr #ATH#E GE) et
446 RHEE 10<s <20 m 2240 i 5
447 AT $>20 n’ 3000 SRt
118 £ IR e I 750 e
449 Fr PR IR AL PUE PLi f 1180 iRl
450 BESE 7R ) <5 n’ 560 i 5
451 MR 5<s <15 m 1100 Ky
452 TSN 15<s <20 n’ 1800 ot
453 L 2E i) 20<s <25 m 2500 el
454 TR 1] §>25 n’ 3000 i
455 | RS IR/ PR D I g = 480 , HHIN—A £UINIL80TT Aol =
456 Frky 2wl E A = 320 Kl ==
457 VR b PR R S L =) 560 o ==
458 H 32D 2 FHAEX f 320 Rl
459 o R EEAX =] 320 iRl
460 WEFEREFE T 1%75% (171X107) mPa *s BT 336 K=
461 BT HER =] 1400 Rl
462 | et 2 TR B2 4% fEHE =] 360 i =
463 | bk zU THALARS 5 2 A% ax =] 800 oz =
464 SR B f 320 Rl
465 COD [ Bl 43¢ f 504 i =

410 R/l
466 S AN I UVATUVAZSUVB ~ gy | (g A, 500014 263

uve P

467 ST S B AE LR A AT AR =] 378 Rl
468 PV AR A AN = 357 Rzl =
169 | HAYES %jﬁéaﬁ?ﬁ%%)ﬁ & 300 Lialll e
470 XERH 28 5 Sl J2 I JEAS (0~ 10) pm Jr 500 ol
471 FAAZ MR =] 3000 Rl
472 5 e VPR T3 f 320 i =
473 R RO = 620 Rzl =
474 et 2= 1 (3807780) nm f 630 i =
475 Hltl X A v e (1.073.0) % 100v/220v, 0" 100A A 100 Rl
476 FL T A HLE (0.572.0) % 100v/220v, 0" 100A A 110 Kl ==
477 =AU (2.073.0) % 100v/200v/380v, 0" 100A A 160 Far =
478 =M TR (0.571.0) % 100v/200v/380v, 0~ 100A A 240 ol
479 B =AH B e (0.571.0) % 100v/200v/380v, 0" 100A A 200 PRl
480 B =AH B e (2.073.0) % 100v/200v/380v, 0" 100A A 160 K 2
481 A (1.573.0) % (1.573.0)m’/h A 60 ialllle=
482 A (1.573.0) % (3.0710)m3/h A 90 PRl
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s HBRELERK ] NEEH By WATH# (GT) st
483 R (1.573.0) % (10725)m’/h A 120 Rl =
484 KE 1. 2% (15725) mm A 60 Rl =
485 KFE 1%, 2% (40750) mm A 200 (ialllles
486 HL s LR AR 0.0170. 024 0735kV gﬁg 240, FEHIIM—AER oo Rl =
487 HL s LR AR 0. 054 0735kV gﬁg 180, HEI—AERRAINY60 7T Rl =
488 L LR AR 0.0170.05%% 2KALLF éﬁg 210, A IN—A &R k72 ialllle=
489 L LR AR 0.170.5% 2KALLF éﬁg 120, AEHEIM—AER Y4870 Rl =
490 | HARMRE T BHEL) R EL X 3 300 el 2
£E | AARRONTESAOBEARABREFER , £FSEE. AFAERUMERIE , BEIFETHARRDUBIT .
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